Equal 9 step grey scaling betweeb* gan=23 & L*9an=100.0,Yet=2, normalisation white W

L*0ane23.7,L%0a=61.8,L* 0aw=100.0,Yoan=4-0, Yoa=30.2, Yoan=100.0,Coav=Yoaw: Yoan=25.0
L*tan=29.1,L*tau=63.0,L*taw=100.0,Y;an=5.9, Ytau=31.6, Ytaw=100.0,Cray=Ytaw: Ytan=17.0
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 BL* min] / [AL* max], L* cleLaBw = 116 [Y/Y,]/3 - 16 with Y >= 0,882,Y,=100

g*_*5: 99, g%y= 99 g%= 86, g*y= 82 g*5= 8_9, g'y= 85
L* cieLaB,w intended output real output linearized output
n0.i L*0a L*Or YOa YOr : L*a Al*a L*tr Yta (L*r) Y112 *a Al*a
1oo+Og 1000 1.0 100.0 1.0: 100.0 1.0 1000 1.0 100.0
: 9.3 8.4
8 904 0875 77.3 0.763 90.7 0.868 77.7  0.881 91.6
! . 8.5
7 809 075 583 0566 8l.4 0.737 59.1  0.761 83.1
75+ ' 9.2 8.6
6 714 0625 427 0403 721 0.607 439  0.64 745
: 9.1 8.7
@5 618 05 302 0278 630 0.478 31.6 0.517 65.8
: 9.0 8.8
50+ @+ 523 0375 204 0171 540 0.351 22.0  0.392 56.9
: 8.8 8.9
@3 427 025 130 0094452 0.227 147  0.266 48.0
; 8.4 9.1
@:2 332 0125 76 00383638 0.109 9.4 0.138 38.9
1 7.7 9.8
25*.1 237 00 40 00291 0.0 59 0.0 29.1
o 3 YouitY,
*o = = i normalisation: Yigiw=Yoaw2ai 0ref
AL*52=9.5 (i=1,2,...,8) : taiw OaWYOaW"'YOref
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